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BEAREK A6 E TRIEE (LS R)E AR FGERTKP)

£ b B - k& B H = i € # =
BEER{E 19,321,217
BRES: 19,321,217
RS 19,321,217
RS 18, 838, 500
EtETE 145, 400
1 &REHETE 1.00 145, 400 145, 400
=
BHE 33 953, 400
2 TEEREEEN tEL 12K 1.00 953, 400 953, 400
#h =
EARGRE GBETKPT) 12,029, 400
3 BEO®E 1.00 5,311, 400 5,311, 400
=
4 KFRES S UESREOTEEDE 1.00 4,509, 800 4,509, 800
e =
5 HBIEFETORE 1.00 1,424,600 1,424,600
=
6 RImE/ERK 1.00 783, 600 783, 600
=
ARG (fTEER) 4,352, 400
1 BEOREH 1.00 807, 200 807, 200
=
8 kRESLUVEHKEBEOREHDRE TS (15, 19TXAD 2.00 353, 800 707, 600
' r—2
9 BRREDOHESSHEN H{t:EE (15, 19T XA 1.00 1,790, 400 1,790, 400
F—x




BEAREK SH6EE TS ERUE )R AR GEETKP)

% m S - Tkt B o & ¢ ® I
10 MEHTORE 172 x 213t 2.00 434, 200 868, 400
r—2

11 HEER FER, FEHER2 3.00 59, 600 178, 800
*x

HETEEORET 555, 200

12 ETEE DA 1.00 555, 200 555, 200
=

e - | 365, 400

13 & - |E EAT, PR R 3.00 121, 800 365, 400
el

RE 201, 400

14 BE 1.00 201, 400 201, 400
=

R 235, 900

15 S|EEER 1.00 235, 900 235,900
=

BEEEE 482,717

EHARE 182, 7117

16 EHAME 1.00 182, 7117 182, 7117
=

R 300, 000

17 %R 1.00 300, 000 300, 000
=




BIRR TH6FEE T BB RILEHR)EARRETGEETKF)

% g Fg - K& Bifg B 2 B ® B W =
ERRA 18,838,500 + 482,717 19,321,217
EEAGE 18, 838, 500
EERE 482,717
T DR fi 18,838,500 x 53.85% ( 35% + (1 — 35%) ) 10, 144, 532
BRI 19,321,217 + 10, 144,532 29, 465, 749
—REERF 29,465,749 x 53.85% ( 35% + (1 — 35%) ) — 3,054 15, 864, 251
KBS 29,465,749 + 15, 864, 251 45, 330, 000
HERSELE 45,330,000 x 10.00% 4,533,000
EBERN 45,330,000 + 4,533,000 49, 863, 000




K& -ET/\vr—2

TH6FETEBEE RGN R)BEARRE(ERTK)

=1
B F  BRETETE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 0.50 47, 200. 00 23, 600
& it YEZREN - 1.00K 145, 400. 00 145, 400
&S :2
£ . TEEHEEEN ML 12K 1HhEL Y
%4 7 R - AR R B3 = B & # # B &
EX: T TC D)
A 0.50 64, 800. 00 32, 400
A (A)
A 1.00 57, 000. 00 57,000
HEm (C)
A 12.00 38, 400. 00 460, 800
Hftt &
A 12.00 33, 600. 00 403, 200
& i YE2E:H - 1. 003 & 953, 400. 00 953, 400
&S :3
2 EBEDORE 1KLY (1)
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 3.00 64, 800. 00 194, 400
A (A)
A 5.00 57, 000. 00 285, 000
A (B)
A 20. 00 47, 200. 00 944, 000
HEm (C)
A 40. 00 38, 400. 00 1, 536, 000
Hftt &
A 70. 00 33, 600. 00 2, 352, 000
& i YEZREN - 1.00K 5,311, 400. 00 5,311, 400




RIER-TEI/\vr— SH6ERE TS ERLBHRK)E AR HGERTKP)

EE .4
B KEERES K UEHREOREEHDEBE 1KLY (1)
% 7 R - AR R B3 H 2 B & # W = B &
EX: T TC D)
A 1.00 64, 800. 00 64, 800
A (A)
A 5.00 57, 000. 00 285, 000
A (B)
A 20. 00 47, 200. 00 944, 000
HEm (C)
A 40. 00 38, 400. 00 1,536, 000
Hftt &
A 50. 00 33, 600. 00 1, 680, 000
& i YEZREN - 1.00K 4, 509, 800. 00 4,509, 800
EE =)
B BERTORE 1KLY (1)
% 7 R - AR R B3 H 2 B & # W = B &
EX: T TC D)
A 2.00 64, 800. 00 129, 600
A (A)
A 3.00 57, 000. 00 171, 000
A (B)
A 5.00 47, 200. 00 236, 000
HEm (C)
A 10. 00 38, 400. 00 384, 000
Hftt &
A 15.00 33, 600. 00 504, 000
& i YEZRED - 1.00 1, 424, 600. 00 1,424, 600




K& -ET/\vr—2

TH6FETEBEE RGN R)BEARRE(ERTK)

ES:6
& REER 1KLY (1)
% 7 R - AR R BARE = i & # & B &
A (A)
A 2.00 57, 000. 00 114, 000
A (B)
A 3.00 47, 200. 00 141, 600
HEm (C)
A 5.00 38, 400. 00 192, 000
Hftt &
A 10. 00 33, 600. 00 336, 000
& i YEZREN - 1.00K 783, 600. 00 783, 600
E&S:7
2 EBEDORE 1KLY (1)
% 7 R - AR R BARE = i & # & B &
EX: T TC D)
A 1.50 64, 800. 00 97, 200
A (A)
A 2.00 57, 000. 00 114, 000
A (B)
A 5.00 47, 200. 00 236, 000
HEm (C)
A 5.00 38, 400. 00 192, 000
Hftt &
A 5.00 33, 600. 00 168, 000
& i YEZRED - 1.00 807, 200. 00 807, 200
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TH6FETEBEE RGN R)BEARRE(ERTK)

S :8
B KEERES L UVEBREOREMDEE Hft#ERE (15, 19TXMA) 15—2%Y
% 7 R - AR R B3 H 2 B & # & B &
EX: T TC D)
A 0.50 64, 800. 00 32, 400
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 2.50 47, 200. 00 118, 000
HEm (C)
A 2.50 38, 400. 00 96, 000
Hftt &
A 1.50 33, 600. 00 50, 400
& i E2EH - 1.005—R 353, 800. 00 353, 800
=)
L BRREOHEREMET EfH#ER (15, 19TXAD 15—2%Y
% 7 R - AR R B3 H 2 B & # & B &
EX: T TC D)
A 3.50 64, 800. 00 226, 800
A (A)
A 6.00 57, 000. 00 342, 000
A (B)
A 12.00 47, 200. 00 566, 400
HEm (C)
A 14.00 38, 400. 00 537, 600
Hftt &
A 3.50 33, 600. 00 117, 600
& i E2EH - 1.005—R 1, 790, 400. 00 1, 790, 400




K& -ET/\vr—2

TH6FETEBEE RGN R)BEARRE(ERTK)

H5:10
L BEETORE 1K < 285 15—2%Y
% 7 R - AR R BARE = i & # & B &
EX: T TC D)
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57,000
A (B)
A 2.50 47, 200. 00 118, 000
HEm (C)
A 2.00 38, 400. 00 76, 800
Hftt &
A 3.50 33, 600. 00 117, 600
& i E2EH - 1.005—R 434, 200. 00 434, 200
#5511
&% MEfEk TERI, ZERER2 1MEY
% 7 R - AR R BARE = i & # & B &
A (B)
A 0.50 47, 200. 00 23, 600
HEm (C)
A 0.50 38, 400. 00 19, 200
Hftt &
A 0.50 33, 600. 00 16, 800
& i YEEREN : 1. 004K 59, 600. 00 59, 600




K& -ET/\vr—2

TH6FETEBEE RGN R)BEARRE(ERTK)

H5 :12
A ETETEORET 1RXEHY ()
£ 7 R - KT B = BO(f & | # B &
F1EBER GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 2.00 57, 000. 00 114, 000
AR (B)
A 3.50 47, 200. 00 165, 200
HAf (C)
A 2.00 38, 400. 00 76, 800
Hti&
A 4.00 33, 600. 00 134, 400
& B 1YEZHEH - 1.00K 555, 200. 00 555, 200
H5 13
2% - %E - |E FFEI, P ¥ 1EHY
£ 7 R - KT B = BO(f & | # B &
F1EBER GEED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57,000
& it YEZHER - 1.00[E 121, 800. 00 121, 800
H5: 14
£ 7 R - KT B = BO(f & | # B &
F1EBER GEED
A 1.50 64, 800. 00 97, 200
AR (A)
A 1.00 57, 000. 00 57,000
A (B)
A 1.00 47, 200. 00 47, 200
& it 1YE%HEH - 1.00K 201, 400. 00 201, 400




K& -ET/\vr—2

TH6FETEBEE RGN R)BEARRE(ERTK)

H5 : 15
B |MESER 14y
2 Lo R - KT B = B M € &8 # w %
FEHERAR (BEH
A 1.00 64, 800. 00 64, 800
A (A)
A 1.50 57, 000. 00 85, 500
B (B)
A 1.00 47, 200. 00 47, 200
HAf (C)
A 1.00 38, 400. 00 38, 400
& it 1YEZHEH - 1.00K 235, 900. 00 235, 900
H5: 16
2% EHARE 14y
2 Lo R - KT B = B M € &8 # w %
EHARE
= 1.00 182, 717.00 182, 717
& it 1YEZHEH - 1.00K 182, 717.00 182, 7117
&H5 17
2 EBHRSR 14y
2 Lo R - KT B = B M € &8 # w %
(BRRRE
= 1.00 300, 000. 00 300, 000
& it 1YE%HEH - 1.00K 300, 000. 00 300, 000




